Chapter 12

Financial Accounting


Chapter 12 HKAS 36 Impairment of Assets

(I)
Multiple Choice Questions

1.
On 1 January 2001 Plan acquired 60% of the equity share capital of Sycamore. Goodwill of $100,000 arose on the acquisition. This goodwill is assumed to have a useful economic life of 10 years and is being amortised over that period.

Sycamore’s performance for the years ended 31 December 2001 and 31 December 2002 slightly exceed budget. However, in the year ended 31 December 2003 it made substantial losses that had not been forecast.

The goodwill arising on the acquisition of Sycamore should be reviewed for impairment:

A
Annually

B
In 2001

C
In 2003

D
In 2001 and 2003

2.
Which of the following statements about HKAS 36 “Impairment of Assets” are correct?

1
Non-current assets must be checked annually for evidence of impairment.

2
An impairment loss must be recognised immediately in the income statement, except that all or part of a loss on a revalued asset may be charged against any related revaluation surplus.

3
If individual assets cannot be tested for impairment, it may be necessary to test a group of assets as a unit.

A
1 and 2 only

B
1 and 3 only

C
2 and 3 only

D
1, 2 and 3

3.
A cash generating unit has suffered an impairment loss of $60,000. Before the impairment, the carrying amounts of the assets in the cash generating unit were as follows:

	
	$000

	Goodwill
	30

	Patent (market value $25,000)
	30

	Other non-current assets
	60

	
	120


How should the impairment loss be allocated between these assets?

	
	Goodwill
	Patent
	Other non-current assets

	A
	$15,000
	$15,000
	$30,000

	B
	$30,000
	$5,000
	$25,000

	C
	$30,000
	$10,000
	$20,000

	D
	$30,000
	$30,000
	


4.
On 31 December 2001, U purchased 100% of the equity share capital of V and V became a subsidiary of U on that date. U paid $110 million for the shares, and the fair value of the net assets of V at 31 December 2001 was $100 million. Goodwill on consolidation is written off over 10 years, starting in 2002. At 31 December 2002, the balance sheet of V showed the following balances:

	
	$ million

	Property, plant and equipment:
	

	- Land and buildings
	50

	- Plant and machinery
	30

	Net current assets
	15

	
	95


On 31 December 2002, the directors of U carried out an impairment review in which V was treated as a single cash-generating unit. The recoverable amount of the cash-generating unit at 31 December 2002 was computed as $96 million. No assets within the cash-generating unit had suffered obvious impairment.

What is the reduction in the consolidated reserves of U as a result of the impairment review of V (not including the normal annual write-off of goodwill)?

A
$1 million

B
$5 million

C
$8 million

D
$9 million



(CIMA Paper 7 Financial Reporting May 2003)

(II)
Examination Style Questions
1.
Explain what is meant by “recoverable amount” and indicate how it might be measured in practice.



(8 marks)



(AIA Paper 13 Financial Accounting III (IAS) May 2003 Q6(a))

2.
(a)
HKAS 36 “Impairment of Assets” was published in January 2001. It introduced the term cash generating units.

Explain what a cash generating unit is and why it is necessary.
(5 marks)

(b)
Identify the cash generating unit in the following cases.

(i)
A manufacturer can produce a product at a number of different sites. Not all the sites are used to full capacity and the manufacturer can choose how much to make at each site. However, there is not enough surplus capacity to enable any one site to be closed. The cash inflows generated by any one site therefore depend on the allocation of production across all sites.

(ii)
A restaurant chain has a large number of restaurants across the country. The cash inflows of each restaurant can be individually monitored and sensible allocations of costs to each restaurant can be made.



(5 marks)

3.
On 1 July 1999, Heywood acquired Steamdays, a company that operates a scenic railway along the coast of a popular tourist area. The summarised balance sheet at fair values of Steamdays on 1 July 1999, reflecting the terms of the acquisition was:
	
	$000

	Goodwill
	200

	Operating  licence
	1,200

	Property – train stations and land
	300

	Rail track and coaches
	300

	Stream engines (2)
	1,000

	Purchase consideration
	3,000


The operating licence is for ten years. It has recently been renewed by the transport authority and is stated at the cost of its renewal. The carrying values of the property and rail track and coaches are based on their estimated replacement cost. The engines are valued at their net selling price.
On 1 August 1999 the boiler of one of the steam engines exploded, completely destroying the whole engine. Fortunately no one was injured, but the engine was beyond repair. Due to its age a replacement could not be obtained. Because of the reduced passenger capacity the estimated value in use of the business after the accident was assessed at $2 million.
Passenger numbers after the accident were below expectations even after allowing for the reduced capacity. A market research report concluded that tourists were not using the railway because of the fear of a similar accident occurring to the remaining engine. In the light of this the value in use of the business was re-assessed on 30 September 1999 at $1.8 million. On this date Heywood received an offer of $900,000 in respect of the operating licence (it is transferable).
Required:
Briefly describe the basis in HKAS 36 ‘Impairment of Assets’ for allocating impairment losses; and show how each of the assets of Steamdays would be valued at 1 August 1999 and 30 September 1999 after recognising the impairment losses.

(8 marks)


(Adapted HKSA/ACCA Paper 10H December 1999 Q3(c))

4.
Acquirer is an enterprise that regularly purchases new subsidiaries. On 30 June 2001, the enterprise acquired all the equity shares of Prospects for a cash payment of $260 million. The net assets of Prospects on 30 June 2001 were $180 million and no fair value adjustments were necessary upon consolidation of Prospects for the first time. Acquirer assessed the useful economic life of the goodwill that arose on consolidation of Prospects as 40 years and charged six months’ amortization in its consolidated income statement for the year ended 31 December 2001. Acquirer then charged a full year’s amortization of the goodwill in its consolidated income statement for the year ended 31 December 2002.

On 31 December 2002, Acquirer carried out a review of the goodwill on consolidation of Prospects for evidence of impairment. The review was carried out despite the fact that there were no obvious indications of adverse trading conditions for Prospects. The review involved allocating the net assets of Prospects into three cash-generating units and computing the value in use of each unit. The carrying values of the individual units before any impairment adjustments are given below:
	
	Unit A
	Unit B
	Unit C

	
	$ million
	$ million
	$ million

	Patents
	5
	-
	-

	Property, plant & equipment
	60
	30
	40

	Net current assets
	20
	25
	20

	
	85
	55
	60

	
	
	
	

	Value in use
	72
	60
	65


It was not possible to meaningfully allocate the goodwill on consolidation to the individual cash-generating units, but all the other net assets of Prospects are allocated in the table shown above. The patents of Prospects have no ascertainable market value but all the current assets have a market value that is above carrying value. The value in use of Prospects as a single cash-generating unit at 31 December 2002 is $205 million.

Required:
(a)
Explain why it was necessary to review the goodwill on consolidation of Prospects for impairment at 31 December 2002.
(3 marks)

(b)
Explain briefly the purpose of an impairment review and why the net assets of Prospects were allocated into cash-generating units as part of the review of goodwill for impairment.
(5 marks)

(c)
Demonstrate how the impairment loss in unit A will affect the carrying value of the net assets of unit A in the consolidated financial statements of Acquirer.


(5 marks)

(d)
Explain and calculate the effect of the impairment review on the carrying value of the goodwill on consolidation of Prospects at 31 December 2002.
(7 marks)



(Total 20 marks)

5.
HK Limited purchased a manufacturing plant building ten years ago for $1,300,000. The building has been depreciated using the straight-line method with a 30 years useful life and 10% residual value. HK’s manufacturing operations have experienced significant losses for the past two years, so HK has decided that the manufacturing building should be evaluated for possible impairment. HK estimates that the building has a remaining useful life of 15 years; that discounted net cash inflow from the building will be $750,000, and that the fair value of the building is $230,000. No goodwill was associated with the purchase of the building.

Required:
(a)
Explain when an impairment review should be carried out in accordance with HKAS 36 “Impairment of Assets”.
(10 marks)

(b)
Identify if there is an impairment loss that needs to be recognized for HK Limited.
(10 marks)



(Total 20 marks)



(HKICS Paper 15 HK Financial Accounting November 2002 Q5)

6.
It is generally recognised in practice that non-current assets should not be carried in a balance sheet at values that are greater than they are ‘worth’. In the past there has been little guidance in this area with the result that impairment losses were not recognised on a consistent or timely basis or were not recognised at all. HKAS 36 ‘Impairment of Assets’ was issued in January 2001 on this topic.
Required:
(a)
(i)
Define an impairment loss and explain when companies should carry out a review for impairment of assets;
(3 marks)


(ii)
Describe the circumstances that may indicate that a company’s assets may have become impaired.
(7 marks)

(b)
Shiplake is preparing its financial statements to 31 March 2002. The following situations have been identified by an impairment review team:
(i)
On 1 April 2001 Shiplake acquired two subsidiary companies, Halyard and Mainstay, in separate acquisitions. Consolidated goodwill was calculated as:
	
	Halyard
	Mainstay

	
	$000
	$000

	Purchase consideration
	12,000
	4,500

	Estimated fair value of net assets
	(8,000)
	(3,000)

	Consolidated goodwill
	4,000
	1,500


A review of the fair value of each subsidiary’s net assets was undertaken in March 2002. Unfortunately both companies’ net assets had declined in value. The estimated value of Halyard’s net assets as at 1 April 2001 was now only $7 million. This was due to more detailed information becoming available about the market value of its specialised properties. Mainstay’s net assets were estimated to have a fair value of $500,000 less than their carrying value. This fall was due to some physical damage occurring to its plant and machinery. Shiplake amortises all goodwill over a five-year life.

(3 marks)

(ii)
Shiplake has an item of earth-moving plant, which is hired out to companies on short-term contracts. Its carrying value, based on depreciated historical cost, is $400,000. The estimated selling price of this asset is only $250,000, with associated selling expenses of $5,000. A recent review of its value in use based on its forecast future cash flows was estimated at $500,000. Since this review was undertaken there has been a dramatic increase in interest rates that has significantly increased the cost of capital used by Shiplake to discount the future cash flows of the plant.


(4 marks)

(iii)
Shiplake is engaged in a research and development project to produce a new product. In the year to 31 March 2001 the company spent $120,000 on research that concluded that there were sufficient grounds to carry the project on to its development stage and a further $75,000 had been spent on development. At that date management had decided that they were not sufficiently confident in the ultimate profitability of the project and wrote off all the expenditure to date to the income statement. In the current year further direct development costs have been incurred of $80,000 and the development work is now almost complete with only an estimated $10,000 of costs to be incurred in the future. Production is expected to commence within the next few months. Unfortunately the total trading profit from sales of the new product is not expected to be as good as market research data originally forecast and is estimated at only $150,000. As the future benefits are greater than the remaining future costs, the project will be completed, but due to the overall deficit expected, the directors have again decided to write off all the development expenditure.
(4 marks)

(iv)
Shiplake owns a company called Klassic Kars. Extracts from Shiplake’s consolidated balance sheet relating to Klassic Kars are:
	
	$000

	Goodwill
	80,000

	Franchise costs
	50,000

	Restored vehicles (at cost)
	90,000

	Plant
	100,000

	Other net assets
	50,000

	
	370,000


The restored vehicles have an estimated realisable value of $115 million. The franchise agreement contains a ‘sell back’ clause, which allows Klassic Kars to relinquish the franchise and gain a repayment of $30 million from the franchisor. An impairment review at 31 March 2002 has estimated that the value of Klassic Kars as a going concern is only $240 million.
(4 marks)

Required:
Explain, with numerical illustrations where possible, how the information in (i) to (iv) above would affect the preparation of Shiplake’s consolidated financial statements to 31 March 2002.

(Total 25 marks)


(ACCA Paper 2.5H June 2002 Q3)
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